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SECTIONB

Answer ALL questions. Write your answers in the spaces provided.

Ryan will drive his car in Spain.

The speedometer in the car shows the speed in miles per hour only.
He will be driving on a road with a speed limit of 100 kilometres per hour.

Ryan uses this rule to find this speed in miles per hour.

kilometres L . miles per
oer hour H divide by 8 H multiply by 5 H hour

Ryan thinks that 70 miles per hour is the same as 100 kilometres per hour.

-
Is Ryan correct?

(3)

(Total for Question 1 is 3 marks)

L
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Nicola wants to buy 30 litres of white paint.

She sees this special offer.

White paint

10 litre tin
usual price £38

15% discount

Nicola uses this special offer.
She has a budget of £100 for the paint.

-

Does Nicola have enough money to buy 30 litres of white paint?

(4)

(Total for Question 2 is 4 marks)
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3 Luke wants to cover this wall with blue paint.
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He will buy blue paint in 2.5 litre tins.
Each 1 litre of blue paint will cover 8 m” of the wall.

[
How many tins of blue paint does Luke need to buy?

(5)
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(Total for Question 3 is 5 marks)
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s

4 Chris is designing a badge.
The badge needs to

» bein the shape of a trapezium S
LS

SRGIS

SRS

» have a base of length 6cm

« have only one line of symmetry.

e 5
SLESs
05%5er 938

4 )
Draw a suitable badge.

Use the grid below to draw a badge.
(3)
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(Total for Question 4 is 3 marks)
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5 Jimmy works in a shop.
He has this information about the 72 items sold last week.
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Jimmy starts to display this information in a pie chart.

XL

$%0%%

XXX

O

<13 U
’:"0: 9083
190%6%0% % %%

XX
o%

5

XX
o%%
XX
X
55

0

X
o%

<
3
8

KR
oo
2%

oS

0

XX
XX

o0

X
XX

X5
XX

X
o%

S
o
RRRRKKS

0

020!

QLR
:
%%
0%

000

35

O
%
ol

%

000

X
000
o0

XX
o%

X

XX

b

2

XX
XXX

%
%
%5

5

0o

X

X
X
O
O
XX

XX
O
O
o%
XX

XX
o%
XL

X X

o%

X
O
o%

XX
o%

5

oo

00

020!

o%

%!

X
X X
2
%%

35

X
X5
XX

O

000

2o
f»
X
S

o%
X
o%

XX
X

:’00000000000000000000
o%

0

020!

000

%!

¢
b3
%

%%

X
XX

000

35

KL

X
R

000

X
XX

¢
000

5

oo
o

0

%5

000

%!

X
XX
O
X

oo’

XX

55

%
K

o
%

oo’

o%

o0

0. 0.0.%
22055

S
P02 % %%

XX
o5

XX
0%
OKAK

K

3
%5

X
0
%
205

o

o
o%
X

%
%%

K&
3R
%5

%o

%

3
0%
X

O
0%

X
00
%
205

>
3%
%
RS

%
<
o%

000

XX

000

oY%
o5
XX

000

%5

o

%

X
X5
XK

3
%5

X
0
o0
205

o

¢
0008
0

5

oo

%%
el
o%

&
55

o%!

<
2
kS

o96%%%
:0.2.00
%

U R B
X %
RRRREE

ot

X
+%%

X
EEH

%
XX

X
S
:P
XX
SR

XX

%%

o0

5
4 %%
o

0 )\

241

%%

oS

o
(8

KA
QKRS

QR
02000

:':’

e

]

o5
X
%%
ol

%
QS
b

o

&
o%

XX

X
04
S
K

5

%

X

g
XX
o%!

d

X X
Ve

OO0

292823

Aoy
(0
R

000
024
A
Ky

QXX

5

q

X
a9
<
KK

e

XX

o
X

o,

XX
%
X

20

&
NF

KIS
.0

o
K>

OO
KKK
e
R
95
0%

o5

ol

X
&

o
o%

Complete the pie chart for Jimmy.

Tablet

9%
9%
OB

<9

<

o’

)

XX

0K
3
K
%!

20

X

%

XX
X%
M
vilteed
RRKS

o2

K
3R
P
<K
e
R

XX

XX
XX
&

3
O
O
L
X

(Total for Question 5 is 3 marks)
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r

6 Benis an activity leader.

He is planning a team-building event for a group of people.
Ben has this part of a map.

N
Diagram drawn
accurately
A
N
B
Key: 1cm on the map is 1000m on the ground
The group will start at point A and walk directly to point B.
Ben needs to write instructions to give to the group.
The instructions need to include the
» bearing
« distance to be walked.
-
(@) Write the instructions for the group.
Remember to give units with your answer.
(4)
-
.
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Ben records the time it took each person to complete a different event.
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He is completing a table with information.

Time
(minutes)

Mean 39

Range 26

Longest time 53

Shortest time

-
(b) Complete the table.

(2)
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(Total for Question 6 is 6 marks)
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-

7 The table shows the price of a cup of tea in 5 different cafes.

cafe

A

B C D E

price

£1.80

£1.59 £1.65 £1.45 £1.70

Calculate the mean price of a cup of tea.

(3)

(Total for Question 7 is 3 marks)

J
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(Total for Question 8 is 3 marks)
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r

9 Charlie works in a beauty salon.

He has three appointments today.

The time needed for each appointment is

e Mrs Green (1% hours)
+  Ms Price (1 hour 20 minutes)
+ Sam (3% hours).

He will have a 45 minute break.

Charlie will start work at 9:15 am
He wants to finish work by 4:30 pm

f

Will Charlie finish work by 4:30 pm?

(4)

(Total for Question 9 is 4 marks)
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10 Oscar is organising a show.
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Visitors to the show choose their seats at random.
There are 350 seats available.
These seats are numbered from 1 to 350

Oscar places a prize under each of the seats numbered 17 to 25

-
(@) What is the probability that the first visitor chooses a seat with a prize?

N\

The probability that a visitor buys a soft drink at the show is 3

N

-
(b) Which of these describes this probability?

Tick [¢/] a box to show your answer.
[ 1 impossible

[ 1 unlikely

[ 1 evenchance

[ ] likely

[ 1 certain

(Total for Question 10 is 3 marks)
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11 Holly works at a garage.
Mr Bakir brings his car in for a service.
He also buys 2 tyres and a battery.

Holly has this list of costs
» service £110
o tyres £49.99 each
o battery £89
She uses this list to start to work out the bill for Mr Bakir.

Holly also has to charge 20% VAT on the costs to work out the total bill.

4 N
(a) Work out the total bill.

(4)
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(b) Use estimation to show a check of your answer.

(1)

(Total for Question 11 is 5 marks)

TOTAL FOR SECTION B
TOTAL FOR PAPER

42 MARKS
56 MARKS
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